Chapter 7 Additional SPSS exercise
Using the data from the table below carry out the relevant t-test and get SPSS to present appropriate statistics, including confidence intervals. These are two illness groups.  One is Mal de Débarquement Syndrome and the other is Ménière’s disease.  The scores are quality of life measures.  The higher the score, the better the quality of life.

	MdDS group
	Ménières Disease group

	4
	9

	3
	7

	2
	8

	5
	6

	4
	8

	6
	5

	9
	7

	10
	8

	3
	9

	4
	8


SPSS exercise answer

You should set up you data file as we have done in the image below:
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To carry out the analysis, you should click on  Analyze, Compare Means, one way ANOVA and set up the dialog box as we have done below:

[image: image2.png]] Independent-Samples T Test

TestVariable(s):

& aualty of life [0L]

‘Grouping Variabe:

group(12)





When you run the analysis you will be presented with the following output:

	Group statistics

	
	illness group
	N
	Mean
	Std deviation
	Std Error mean

	quality of life
	MdDS patients
	10
	5.0000
	2.62467
	.82999

	
	Ménières Disease patients
	10
	7.5000
	1.26930
	.40139


	Independent samples test

	
	Levene's test for equality of variances
	t-test for equality of means

	
	F
	Sig.
	t
	df
	Sig. (2-tailed)
	Mean difference
	Std error difference
	95% confidence interval of the difference

	
	
	
	
	
	
	
	
	Lower
	Upper

	quality of life
	Equal variances assumed
	3.396
	.082
	-2.712
	18
	.014
	-2.50000
	.92195
	-4.43695
	-.56305

	
	Equal variances not assumed
	
	
	-2.712
	12.991
	.018
	-2.50000
	.92195
	-4.49190
	-.50810


